PLANT ENTERPRISES PRODUCTION

	<u>F</u>	<u>PLANT ENT</u>	<u>TERPRISES PROD</u>	<u>DUCTION</u>		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				261,991	cords	
Hardwood				47,682	cords	
Pulpwood (Total)				309,673		
Chip & Saw				24,540	cords	
Saw Timber						
Pine				47,215,639	board feet	
Hardwood				3,881,646	board feet	
Saw Timber (Total)				51,097,285		
Total Pulpwood, Chip & Saw,	,					\$47,114,360
Saw Timber FOB Mill						
Total Forestry Stumpage						\$25,141,287
Forestry (Total)						\$47,114,360
FEED GRAINS						
Corn	6	30.0	120.00	3,600	bu.	\$8,244
Feed Grains (Total)		30.0				\$8,244
HAY FOR SALE						
Grass	50	2,900.0	3.00	8,700	tons	\$435,000
Hay for Sale (Total)		2,900.0				\$435,000
HOME GARDENS	300					\$90,000
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$16,000
Floraculture & Bedding	*				acre	\$25,000
Plants						
Woody Ornamentals	*				acre	\$10,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$61,000

PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Cabbage						
Fresh	*	1.0	445.00	445	sacks (50 lbs.)	\$3,115
Cabbage (Total)		1.0				\$3,115
Cantaloupe	*	2.0	36.00	72	cartons (40 lbs.)	\$1,080
Collards						
Fresh	8	2.0	495.00	990	doz. bunches	\$6,930
Collards (Total)		2.0				\$6,930
Cucumber						
Fresh	6	1.0	270.00	270	bu. (50 lbs.)	\$2,700
Cucumber (Total)		1.0				\$2,700
Irish Potatoes						
Fresh	8	8.0	76.00	608	cwt.	\$18,240
Irish Potatoes (Total)		8.0				\$18,240
Mustard (Fresh)	6	2.0	405.00	810	doz. bunches	\$5,670
Okra (Fresh)	*	1.0	110.00	110	bu.	\$2,200
Green Onions	6	1.0	1,000.00	1,000	lbs.	\$1,500
Peppers						
Banana	6	1.0	372.00	372	bu. (25 lb.)	\$4,464
Bell	*	1.0	435.00	435	bu. (28 lb.)	\$6,525
Jalapeno	6	1.0	390.00	390		\$5,850
Peppers (Total)		3.0				\$16,839
Snap Beans (Fresh)	6	3.0	150.00	450	bu. (30 lbs.)	\$9,000
Southern Peas (Fresh)	15	16.0	60.00	960	bu. (24 lbs.)	\$19,200
Squash (Fresh)						
Yellow Squash	*	1.0	230.00	230	bu. (45 lbs.)	\$2,760
Zucchini Squash	*	1.0	330.00		bu. (45 lbs.)	\$3,300

PLANT ENTERPRISES PRODUCTION

Crop	lumber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Squash (Fresh) (Total)		2.0				\$6,060
Sweet Corn (Fresh)	7	5.0	530.00	2,650	doz. ears	\$7,950
Tomatoes (Field)	6	4.0	860.00	3,440	lugs (20 lbs.)	\$51,600
Turnips (Fresh)	*	1.0	430.00	430	doz. bunches	\$3,010
Watermelon	*	10.0	300.00	3,000	cwt.	\$18,000
Vegetables (Total)		62.0				\$173,094
TOTAL ALL PLANT ENTERPI	RISES					\$47,881,698

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS			110	pelts	\$583
ALLIGATORS (WILD)			105	ft.	\$2,310
HUNTING LEASES	50	76,000 No. Acres		acre	\$418,000
		Leased			
HONEY	6	44 No. Hives	4,796	lbs.	\$6,475
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES		·		\$427,368

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES Steer Calves					
300-400 lbs.				head	\$56,322
400-500 lbs.			350	head	\$146,302

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
500-600 lbs.			310	head	\$142,436
600-700 lbs.			195	head	\$101,400
Steer Calves (Total)					\$446,460
Heifer Calves					
300-400 lbs.			150	head	\$48,017
400-500 lbs.			410	head	\$154,556
500-600 lbs.			250	head	\$106,480
600-700 lbs.			160	head	\$78,000
Heifer Calves (Total)					\$387,052
Yearling Cattle					
600-700 lbs.			160	head	\$83,200
700-800 lbs.			165	head	\$92,813
Yearling Cattle (Total)					\$176,013
Cow-Calf Pairs			260	pair	\$187,200
Cull Cows			410	head	\$135,392
Cull Bulls			25	head	\$18,263
Cattle & Calves (Total)	170	2,660 No. Cows			\$1,350,379
HORSES					
Brood Mares					
Show Horses	*	20 No. Brood Mares	10	head	\$30,000
Recreation Horses	25	400 No. Brood Mares	95	head	\$142,500
Brood Mares (Total)					\$172,500
Stud Fees					
Show Horses		3 No. Stallions	_	mares bred	\$22,500
Recreation Horses		27 No. Stallions	80	mares bred	\$8,000
Stud Fees (Total)					\$30,500
Show Horses	15		60	head	\$240,000

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HORSES						
Recreation Horses	300			1,510	head	\$1,510,000
Horses (Total)						\$1,953,000
POULTRY						
Broilers	*			3,000,000	lbs.	\$1,830,000
Edible Eggs	*	230,000	No. Hens	4,021,000	doz. eggs sold	\$3,377,640
Cull Hens				118,000	lbs.	\$17,700
Breeder Flocks	*	215	No. Birds	22	doz. hatching eggs sold	\$8
Poultry (Total)						\$5,225,348
RABBITS						
Fryers	6	340	No. Animals	1,360	lbs.	\$1,088
Does	7	75	No. Animals	750	lbs.	\$11,250
Rabbits (Total)						\$12,338
SHEEP						
Slaughter Lambs					head	\$981
Cull Sheep				3	head	\$105
Sheep (Total)	*		No.Breeding Ewes			\$1,086
GOATS						
Show Goats					head	\$3,750
Slaughter Goats					head	\$10,200
Stocker Goats					head	\$3,250
Cull Goats				30	head	\$1,260
Goats (Total) SWINE	13	240	No. Does			\$18,460
Show Pigs					head	\$15,000
Feeder Pigs				330	head	\$5,940

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Slaughter Hogs			30	head	\$3,705
Culls			10	head	\$1,100
Swine (Total)	*	30 No. Sows			\$25,745
NEW - REPLACEMENT POU	I L *	6 3 Farms	190,600	Value	\$244,254
TOTAL ALL ANIMAL ENTE	RPRISES				\$8,586,357
WINN PARISH TOTAL					\$56,895,422